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WEST BENGAL STATE UNIVERSITY
B.Com. Honours 6th Semester Examination, 2021

FACADSE10T-B.CoMm. (DSE3/4)

RURAL MARKETING AND INTERNATIONAL MARKETING

Time Allotted: 2 Hours
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The figures in the margin indicate full marks.

Full Marks: 50

Candidates should answer in their own words and adhere to the word limit as practicable.

GROUP-A
Answer any five questions from the following
Define the term “Rural Marketing”.
What is Agricultural Marketing?
Mention the full form of EPRG framework.
What do you mean by International product life cycle?
Define standardization.
Define the term “International Marketing”.
What are the different types of Cooperative marketing?
Give the idea of Internationalization.
Define the term “Cooperative Marketing”.
What do you mean by adaptation?
What is meant by letter of credit?
Define legal environment of marketing.
What is Air-way Bill?
Define the term “Domestic Marketing”.
What do you mean by Documentation?
Define political environment of marketing.

GROUP-B
Answer any four questions from the following

Discuss the principal factors affecting pricing.

Distinguish between standardization and adaptation.

Write short note on different types of rural products.
Distinguish between domestic and international marketing.
Mention the characteristics of culture.

Distinguish between Rural Marketing and Urban Marketing.
Explain the process of Internationalization.

2x5=10
5x4 =20
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24, Discuss the role of Government in marketing agricultural products.
25. Enunciate different types of Cooperative marketing.

26.  What is the difference between ethnocentrism and polycentricism?
27. Bring out the problems of Agricultural Marketing in India.

28. Elaborate the structure of cooperatives.

GROUP-C
Answer any two questions from the following 10x2 =20
29.  Explain influence of social class on consumption decisions.
30.  Discuss in brief the different dimension of dumping.
31.  Write a note on International product life cycle.

32.  Mention the importance of certificate of origin and bill of lading in
Documentation.

33. Discuss the problems faced by rural marketers in India.

34. Explain the promotion strategies in International Marketing.

35. Discuss the factors influencing buying pattern of rural consumers.
36. Enumerate the current trends in Rural Marketing in India.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY
B.Sc. Programme 6th Semester Examination, 2021

MTMGDSEQO3T-MATHEMATICS (DSE2)

NUMERICAL METHODS
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer Question No. 1 and any five from the rest

1. Answer any five questions from the following: 2x5=10
(@) Construct a linear interpolation for f(x) with f(1)=3 and f(2)=-5.

4
(b) Compute j2x3 dx, by Simpson’s % formula and comment on the result.
0

(c) Derive an iteration formula for computing ia, using Newton Raphson method.

(d) What is the condition of convergency of Gauss-Jacobi iteration to solve the system
of n linear equations? Is this condition both necessary and sufficient?

(e) Show that the equation x*+Inx =0 has exactly one root in the interval B : 1}.

(f) 1f 0.667 be an approximate value of % , find the percentage error.

(9) What do you mean by Numerical Differentiation?
(h) Show that A? cos 2x = 4cos 2x where interval of differencing is %

(i) Define the terms absolute and relative errors.
2. Explain the Newton-Raphson method for computing a simple real root of an 4+1+1+2
equation f(x)=0. When does the method fail? Can we apply this method to the

equation x* —x+ % =07 Justify your answer.

3. (a) In order to find the root of x®*—x-1=0, near x=1 which of the following 2+2
iteration functions give convergent sequences:

(i) x=221 (i) x= [X+1
X X

(b) Apply the method of bisection to find a real root up to two significant digits of the 4
equation x*—-3x-5=0.
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Use Lagrange’s interpolation to find the value of f(x) for x =0.4 using the table.

x | 03 | 05 | 06
f(x) | 0.61 | 0.69 | 0.72

Find A*f(x), where f(xX)=(3x+2)(x—2)(x+1)(5x—1) and the interval of
differencing is unity.

What is interpolation? Deduce Newton’s forward difference interpolation formula
without error term.

Given the following table:
X 0 5 10 | 15 20
f(x) | 1.0 | 1.6 | 3.8 | 82 | 154

Construct the difference table and compute f'(20).

If f(x)=ax, show that (E +E ) f(x)=2f(x).

2
Calculate J.(X+%) dx up to four significant figures by Simpson’s % rule taking
1

4 intervals.
Obtain trapezoidal rule for numerical integration without the error term.

Solve the system of equations by LU decomposition method:
3X+4y+2z2=15 , 5x+2y+z=18 , 2x+3y+2z=10

Deduce Lagrange’s interpolation formula and also prove that Lagrangian functions
are invariant under linear transformation.

For any positive integer k , show that

k ) k
Vkyn :Z(_l)l (inn—i

V being the backward difference operator.

What do you mean by ‘ round off * errors in numerical data? Show how these errors
are propagated in a difference table.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at
in proper address). Students are strongly advised not to submit multiple copies of the same
answer script.
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WEST BENGAL STATE UNIVERSITY
B.A. Programme 6th Semester Examination, 2021

HISGDSEQO4T-HISTORY (DSE2)

SOME ASPECTS OF EUROPEAN HISTORY C. 1780-1839 CE

Time Allotted: 2 Hours Full Marks: 50
The figuresin the margin indicate full marks. e ST 5eE F G T [ T 1
Candidates should answer in their own words AT TS G U ST AT Tl
and adhere to the word limit as practicable. Ceq FEE |
GROUP-A
Rett-+
1. Answer any ten questions from the following: (word limit 30) 2x10=20

fasfere @il 71 eitew Teg wies (Sl 0o)

(& When did the French Revolution occur? Who was the king of France during the
Revolution?

TR [l T ZElRe 2 O T 7916 (& f=eew= 2

(b) Who was Robespierre?
@R & e ¢

() What was the guillotine?
RG]

(d) When wasthe Treaty of Tilsit signed and between whom?
T3 pie @, IR N TR 2R 9

(e) Who established the Bank of France and when?
&, IE AT T T 2Af oD FERE 2

(f) What was the Concordat?
ARG F 2

(g) What were the three principles of Vienna Settlement?
o et o Tfe F feet ¢

(h) Who was the initiator of the Concert of Europe? When was it formed?

& TTREIPR *Ife TR Sooet & ¢ 3@ afb ofe i ¢
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(i) Who emancipated the serfs of Russiaand when?
C®, S AR R J& FCafReE 2
() Between whom and when was the Battle of Sedan fought?
CTOITR T& I, FIHE WK AR 9
(k) Name two Utopian Socialists.
& SR FACIHCF A1 71|
() When did the First World War break out?
22 Regm I ©F 2R 9
(m) Who founded the Fascist Party and when?
&, IR RS 21 2fodt T ¢

(n) Who wrote ‘Mein Kampf * and when?

F, T, ‘(N3 I To+1 FCARE 2
(0) What was the Rome-Berlin-Tokyo Axis?
@S- - Gife srwpfe & 9

GROUP-B
feral-4
Answer any two questions from the following (word limit 250) 5x2 =10
Fefefie @-@FIE 76 etd Ted wie (<=Feas *¢o)
2. Who were the Physiocrats?
Ffera@ic F= feee= ¢

3. Discuss the causes of the Crimean War (1854).
SRR J0@a (S 8) FiRefe SCeThal wea|

4, What were the objectives of Cavour?

IR Sraaalet F faet o

5. Discuss the background of the Bolshevik Revolution of 1917.
5959 AT Feieeifos Rae #Te SiceTne S|

6. What were the reasons for the rise of Fascism before the Second World War?

o fegraa wicst wnbrITE Bite SRt F fee o
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10.

11.
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GROUP-C
Rretat-at

Answer any two questions from the following (word limit 500)
faferie -t 76 aeie Tea wis (<Al @oo)
Analyze the contribution of the philosophers to the French Revolution.

FAI01 R wdfasms S Stima Sat

How far was the Continental system responsible for Napoleon’s decline?

(AT 2IOCa &el) TR SRR 7% F00! WiR e 9

What was the Metternich System? Why did it fail?
choRfE TR i ey @t @ e z@fes ¢

How did Bismarck unify Germany?

P e TN dFw FEREE 2

What were the causes of the First World War?
2y [gras FiReefe F et ¢

N.B.: Sudents have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

10x2 = 20
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B.Sc. Programme 6th Semester Examination, 2021

MTMGDSEO4T-MATHEMATICS (DSE2)

LINEAR PROGRAMMING

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

Answer Question No. 1 and any five from the rest

1. Answer any five questions from the following: 2x5=10

(8) Find the extreme points of the following convex set S ={(x, y): y? <4x}.
(b) Find a supporting hyperplane of the convex set
S={(x, y): x+2y<4, 3x+y<6, x>0, y>0}
() In the following equations find the basic solution with x, as the non-basic variable.
X +4X, —%X; =3
SX +2X,+3%, =4
(d) Is (2, 0) afeasible solution of the following LPP?
Maximize Z =X, +3X,
Subject to 3x, +6x, <8
5x, +2x, <10
Xy, X, 20
(e) Write the following problem in a standard form:
Maximize Z =X +X,+Xg
Subject to | X, —X, + X%, | <2
X, —X, — X3 =3
X, Xp, X320
(F) When a basic solution is said to be degenerated?

(@) A hyperplane is given by x+3y+2z=9. In which half spaces the points (1, 2, 4)
and (-3,1,-5) lie?
(h) Give an example of a non-convex set. Explain why it is non-convex.

6321 1 Turn Over



CBCS/B.Sc./Programme/6th Sem./MTMGDSE04T/2021

(i) Find the number of basic feasible solution of the following LPP:
Maximize  Z =2x, +3X,
Subjectto X +Xx,>2
X —X, <1

Xy, X, 20

2. (a) Find all basic feasible solution of the following system of equations.
X +X, =X =2,
2X, + X, = X3 =3
(b) Show that (1, 2, 1) is a feasible solution of the system of equations.
X =X, +2%; =1
X +2X, —X; =4
X, Xp, X320

Reduce the feasible solution to a basic feasible solution.

3. (a) Solve:
Maximize Z =2%, —3X,
Subject to X, +X, <2
2X, +2X, =8
X, X920

(b) Food X contains 6 units of vitamin A and 7 units of vitamin B per gram and costs
12 p./gm. Food Y contains 8 units of vitamin A and 12 units of vitamin B per gram
and costs 20 p./gm. The daily requirements of vitamin A and B are at least 100 units
and 120 units respectively. Formulate the above as an L.P.P. to minimize the cost.

4. (a) If the feasible region of a linear programming problem is strictly bounded and
contains a finite number of extreme points then prove that the objective function of
the linear programming problem assumes its optimal value at an extreme point of
the convex set of feasible solutions.

(b) Show that the feasible solution x, =1, x, =1, X3 =0, X, =2 to the system
X + X, +X; =2
X, +X, =3%; =2
2X; +4X, +3%X; — X, =4
X, Xo, X3, X3 =0

is not basic.

5. (@) Prove that the set of all convex combinations of a finite number of points is a convex
set.

6321 2
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(b) Give an example of
(i) Convex hullsin E? and E®
(i) Convex polyhedron in E?
(iii) Simplex in zero and one dimension.

6. (a) Prove that in a linear programming problem the optimal hyperplane is a supporting
hyperplane to the convex set of feasible solution.

(b) Find a supporting hyperplane passing through (7,-1) of the convex set
X ={(X, X,) : X2 +X5 <25},

7. Solve the following L.P.P. using duality theory.
Maximize  Z =4x, +3X,
Subjectto  x, <6
X, <8
X +X, <7
3%, +X, <15
-X, <1

X, X, 20

8. (@) Solve by Charnes Big M-method the following L.P.P.
Minimize Z =4X, +2X,
Subjectto  3x, +Xx, =27
X +X,>21
X, +2X, =30
X, X920

(b) Discuss whether the set of points (0, 0), (0,1), (1, 0),(, 1) on the xy-plane is a
convex set or not.

9. (a) GiventheL.P.P.
Maximize  Z =2x, +3X, +4X,
Subjectto X, —5X, +3x; =7
2X, —5X, <3
3X, = X3 =5
X, X920
X, 1s unrestricted in sign. Formulate the dual of the L.P.P.

(b) Prove that if any variable of the primal problem be unrestricted in sign, then the
corresponding constraint of the dual will be equality.

6321 3
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10.(a) If for a basic feasible solution xg of a linear programming problem maximize
Z=cxX, subject to Ax=b and x>0, we have z; —c; >0 for every column a; of

A, then prove that xg is an optimal solution.

(b) Check whether x=5, y=0, z=-1 is a basic solution of the system of equations.

6321

N.B. :

X+2y+z2=4,

2X+Yy+52=5

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same
answer script.
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WEST BENGAL STATE UNIVERSITY
B.Com. Programme 6th Semester Examination, 2021

FACGDSE10T-B.Com. (DSE2)

RURAL MARKETING AND INTERNATIONAL MARKETING

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

1. Answer any five questions from the following: 2x5=10

(a) What is Rural Marketing?

(b) Mention two characteristics of rural markets.

(c) What do you mean by International product life cycle?

(d) Give an idea of Transfer Pricing.

(e) Define International Marketing.

(f) Discuss two advantages of International Marketing.

() What are the different types of Co-operative marketing?

(h) Define Cooperative Marketing.

(i) Define legal environment of marketing.

() What do you mean by adaptation?

(K) What is meant by letter of credit?

() What is Attitude in relation to rural customers?
(m) Define Domestic Marketing.

(n) What do you mean by Documentation in relation to international marketing?
(o) Define international branding.

(p) Briefly explain EPRG framework.

2. Answer any four questions from the following: 5x4 =20
(a) Discuss the factors affecting pricing in rural markets.
(b) Write a short note on non-tariff barriers.
(c) Write short note on different types of rural products.
(d) Distinguish between domestic and international marketing.
(e) Mention the characteristics of culture with reference to international marketing.
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Distinguish between Rural Marketing and Urban Marketing.

Write a short note on WTO.

Discuss the role of Government in marketing agricultural products.
Mention about the different types of Co-operative marketing.
Write short notes on EPRG framework.

Discuss the problems of Agricultural Marketing in India.

Briefly explain the process of exporting in International business.

Answer any two questions from the following:
Explain the current trends in rural markets in India.

Discuss the International pricing methods with special reference to transfer
pricing and dumping.

Explain the phases of International product life cycle.
Mention the importance of certificate of origin, bill of lading in Documentation.

“Rural markets suffer from a variety of constraints.”— Explain these constraints
and suggest measures for overcoming them.

Explain the promotion strategies in International Marketing.
Discuss the factors influencing rural consumer.
Explain the methods of entry into foreign markets.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.

10x2 =20



